2ait a Analysxs

~

\‘.




O OO0 IOIO T T

LE@ﬁﬁmmﬁﬁmakﬂﬁnoutis

BEBSIHT BREREE ZDREIELS

RZEAWTORIES
FOERET S TICRTAEEESR




()] [S] 9% 53 4

y= a,x,+agx2+---+a,x,+b—2a x;+b

anzn

x;(i=l,2,---,r):mmgﬁ (1) (1) (1) (1)

St (2) (2) s (2) (2)
(x,‘”,xg‘”, ,x,‘”,y“’) X2 X, 4
( (2) 2(2),,,'xr(2)' y(2))

(x (N)’ xz‘N)"-,x,fN’, y(N))

N 2N NN

MoREIRARR a;, b RSB



)

.;‘. f ' . -

s .
~ ' 3 L] @
BV A0 4

91110 o018

E=(y"=(axV+b)?

. 2 ; 1 1\
"' e
42 o ) 1OOOUU o
%11 01110100 O
00 1101 : lU 0

I .'.‘o‘lfOl '.' .. »

‘ )

.\.




"011 1()
148 1OOOUU e
%011 01110100 O

(x(l y(l)) 5o (x(k) (k)) i (x(N) (N)) 20101101110 O

.‘o‘lfOl .' .. "

X

i Bl .



¥ 4

1

T L 11 ‘

:gﬂﬂ'
00100000V
%011 01110100 O
00101101110 O

3010 St 101 0

RA*E
.
'




> ﬂ

'.
N, ! P
0o 3

10 '

|y(2)_(ax(2)+b)| E= (y(l)..; a'x“)"'b))é’ -
+(y'?- (ax‘z’-!-b)% F
531

30 4
s0101 7
(2) ' \.. : 1OOOUU ©
ax'“'+b %11 01110100 O
90101101110 O
102l 101 C

i "l il S



+(y _(M Jll101000
101110 O

Eb@helida,b%E
R&H B

m

' .



104101

xm’J\Qﬁzﬁ '% ,
E= (y(l) (ax“’-l-b))"’ '

‘ +(y'@— (ax""’-i-b))z

;
axN+b . 1“0‘
:)0000 O

""'(y 44‘10100

)1 C 011100

E#&lj\ttaa,bt' 2110
r  R®»3

»
,1

1"

V)



BB REOB

fedaed el el ol el el o

E=(y""—=(ax'"+b))? a,b TRUMHTBE
T (y(Z)— (ax(2)+b))2 Al (p) (p) (
| — -+ Pl =
vl (y(N)— (ax(‘\)+b))2 p=1(y (ax b)) x 0
N N
=2, (y"”)—(ax'P)+p)? >, (yP=(ax"”+b)=0
P= p=1

EXBNELDa,beERDD



A v

@ 3 | - ‘ ..‘. -
- e O] SRR DN H
é - . \ .\ S ‘ f )
- ' 4
. ’ CICIOICI104 '

-

" 4

01 | )
30‘1 ‘\)
881 00100000 Y
%11 01110100 O
00101101110 O

L .'¢1‘i°-.‘~' J




’ |

L NRFRSOEH

" \ »
“ g t~ _\‘“ . . . < é 7
—— = e s CHCIOIC104
- . ' . -
- - ‘ - » ’ )
- ‘ s "

Mo 5‘.( ()~ (ax'P+b) =0
- _f -h - p=1

L g‘y(p)ga.lﬁ ()4 Lg 401:1‘U
Ny N < , oo:g(',ou““

~- 01110100 O

O 1101“00

'¢.l~.i.r." 101101 o

> u,=au+b
y=ax+b




y

d N < ' & |
L ORFRMOEY
- . -5 - - p '
. P - é \
i R ™ - ’ .
> . g CHICHCIC 04 |

. iy 4

.
-
4 - - N
- -
‘.‘ . &
- Ll i
> -
S
.
S
| i

S0P -(axP by =0
. N p=

1
Pl=q )y U
Npﬁly‘ Npgi + Np-lb .

- u,=au+b

BIMESR y=ax+b (X 140 150 160 170
FREAORD () OEE NS height




[519% Gk 22 0D &

y—ﬂy=a(x-ﬂ,) E-(y‘”—ax“’)2+(y‘2)—ax‘2))2
BIREREZTATIAOPROZEDS +... +(yNM—axV)2
(x(l) (I))',,,’(x(p), (p)) —Z(y(p)_ax(p))2

o (x (N), y(N))

na
da | N(EP7=IEN—1) THIB &
x(p) y— (x(p)_#x) ﬁﬁﬁﬁﬂ%@“f

y(p) & (y(p)—”y) sxy—as.rxzo



by SIS U oy 45
0] 1% PR 2 0D 1 .
CHCICHICICI G 4 poray | ..f L
: : (v

o
&

 amrmmvar rRTEOBE il "-if‘
Sry—ASzx=0 y=ax;+azxp+++ax+ b-‘ia,x,-i-b e
Hy=ajit+b FRICHNT B & e
Sxy= ASxx Siy=snaytsppazt-c+s,a, | 13 (‘,(‘,3 3
b=u,=au, Sy=snartspaytectsa, [
SO DE & ‘ 22 101 ¢

Siy=81aytspa+ 0 +s, .a,
T b=—&,u,+p,. b=p,—(aypy+az o+ +a, 1)

sXX sxx



.
-
.
PJ

" S

A FE ORI

CHICHICHICIC 1o

2RTDIRE
y=ax+b
ﬂy=aﬂx+b
y—u,=a(x-y,) 31 11 10100 O
riXoTOI%s 0101101110 O
y=a,x,+---+a,x,+b Thama et 1C
Hy= aypyte+a, u+b

y=p=a\(x,=p)+++ax,—u,)

’ "



IR R DI 5

Lol el el el ol el el

/N 2FEICTET

(b1=BLT] PAE%d

2R TTDIRS R T
2 >
y:ax-{-b &md)iln
fty=apt+b Sy
y_#y=a(x -1, riXcsa
rRTEOBE sp) [ 2T
y=a,x,+°"+a,x,+b .}' $o1 So00°*** §o
ﬂy:dll_l]-‘- ...+afﬂr+b s: — : o. :f
ry » » »

y-ﬂrzal(xl_”l)+ '"+ar(xr-ﬂr) Sr1 Sp2 0t Sy,



Bl RERDITE

ledied el el ol el oa

/N 2FEICTEH

2RTDIBE 2RTDBE
y=ax+b _
My=aj+b =t
y—py: a(x —”X) r;ki-:(f)m’g'
rRTOBE ([ SR
y=axy+++a,x+b :y | S21 S22°°* Sy, ‘f‘
p}'=a]ﬂ1+...+arﬂr+b so T . . . .
R ry - . a
y=i,=a(xy=p)+-+a(x,—u,) $1 S2°°°8,) "

BIFEEMRIEIPOZES WITHHHNEREALBHTED




2ait a Analysxs

~

\‘.




X, (0D ¥ BE

e

1 f
1T T T 1 U
- g0011 0 ‘

::dlt'L"l| V110

: i
RSN 100000 :
L nq..,’ . 4




%ﬁﬂ@f‘f“

! onoo'.,vu D

ERENEIO01 01101110 |

thD(n,vrww, 1110 1
()

B0 )’ ’()] 00
, "l|)001 LO

-




ot

) ‘ R
33 100007 o0 1000U
011 011107100 U

EIO01 01101 }
:'QOU(‘,f!r)g 10
TS ’).':'”()]‘
th')QQ

-




ot
A

o011 011107100 U
SN0 01101 1 14

. -o DM \

nng?. 00110




S %0 THhIL "(‘H.'”",;, a
FEAERDB=ZEEE 000

TZd ): 1'(1)() ()
{EHREINSENST

BFEELLELTVS
EVLVSDITTIEEL




91101110100 O
0101101110 O

N .".
(\' 1 '.-,v.




31101110100 O
W1 01101110 O
501 1

(P)— 52 1211004 55
N"pgl(y y@)

X




g 110 U

N . OOOOU t)
31| 011,'0100 O
o~ T J21110 9
1" 01 1C 5

) 1y )2 1 k21100 4,
N“pgl(y(p ”y)

X0 & p -

©




X1, Xo,*** X, ZBLTHEARDIXEEFZIE3ILOHD

Xi=—U;1X1 +a,~2x2+ s +a,~,x,+ b,-+e,-
xi=apx1tajx,+te-+a;x+b+e;



V .

R( 3:5!1’5

CICICICIC

-a-aé'dah ...
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> h2 <- Im(weight ™ height, data=h1)
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> plot(h1, pch=16) “ '
> abline(h2)
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> h2 <- Im(weight ~ height, data=h1)
> h2

> plot(h1, pch=16)

> abline(h2)



> h1 <~ read.table (“ch071.dat”, header=T, row.names=1)
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> h2 <- Im(weight ™ height, data=h1)
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